Anhang

Das komplette Perl-Skript

###############################################################################

#

# Thomas Adam, Wacholderweg 3, 90617 Puschendorf, adam@sbs.de

#

# Berechnung von 

#  -Sonnenaufgang

#  -Sonnenuntergang

#  -Greyzone

#  -Midway Midnight Peak

#

# V21: 02.03.2000

#

# Basierend auf Paul Schlyters Programm RISET http://welcome.to/pausch

#

###############################################################################

use POSIX;

use pdflib_pl 3.0;

$version="V21";

$pi = 4 * POSIX::atan(1);

system ("cls");

###############################################################################

##### INI-Datei einlesen

###############################################################################

open (ini,"riset.ini");

while (<ini>)


{


chop;


($key,$value)=split /\;/;


$ini{$key}=$value;


}

close (ini);

###############################################################################

# Werte vorbelegen

###############################################################################

$jahr=$ini{year};

$rxns=$ini{rxns};

$rxew=$ini{rxew};

$txns=$ini{txns};

$txew=$ini{txew};

$rxname=$ini{rx};

$txname=$ini{tx};

$dir=$ini{dir};

###############################################################################

# User-Input

###############################################################################

print "Jahr [$jahr]: ";

$in=<>;

chop $in;

$jahr = $in if $in ne "";

# RX und TX Koordinaten

print "\nRX Name [$rxname]: ";

$in=<>;

chop $in;

$rxname=$in if ($in ne "");

printf ("RX N+/S- [%.4f]: ",$rxns);

$in=<>;

chop $in;

$rxns=&ineval if ($in ne "");

printf ("RX E+/W- [%.4f]: ",$rxew);

$in=<>;

chop $in;

$rxew=&ineval if ($in ne "");

print "\nTX Name [$txname]: ";

$in=<>;

chop $in;

$txname=$in if ($in ne "");

printf ("TX N+/S- [%.4f]: ",$txns);

$in=<>;

chop $in;

$txns=&ineval if ($in ne "");

printf ("TX E+/W- [%.4f]: ",$txew);

$in=<>;

chop $in;

$txew=&ineval if ($in ne "");

print "\nBerechnung laeuft ...";

###############################################################################

# PDF-Datei anlegen

###############################################################################

$pdf = PDF_new();

die "PDF-Datei kann nicht geöffnet werden" if (PDF_open_file($pdf, "$dir\\$rxname\-$txname.pdf") == -1);

#compression maximal

PDF_set_value($pdf,"compress","9");

#allg. Dokumentinformationen eintragen

PDF_set_info($pdf, "Creator", "RISET.PL $version"); 

PDF_set_info($pdf, "Author", "Thomas Adam");

PDF_set_info($pdf, "Title", "DX-Analyse");

PDF_set_info($pdf, "Subject", "DX-Analyse");

###############################################################################

# ab hier Schleife über alle Tage des Jahres

###############################################################################

for ($monat=1;$monat<=12;$monat++)


{


$Dmax=31; #Default: Monat hat 31 Tage


if ($monat =~ /4|6|9|11/) #Monate mit 30 Tagen



{



$Dmax=30



};


if ($monat =~ /^2/) #Sonderfall Februar



{



$Dmax=28;



if ($jahr % 4 == 0) {$Dmax=29} #Februar in Schaltjahren



if ($jahr % 100 == 0) {$Dmax=28} #Sonderlocke alle 100 Jahre



if ($jahr % 400 == 0) {$Dmax=29} #noch 'ne Sonderlocke alle 400 Jahre



};


for ($tag=1;$tag<=$Dmax;$tag++) #Ausgabe (je Tag eine Zeile)



{



#SA/SU-Berechnung



($rxsa,$rxsu) = sasu ($tag,$monat,$jahr,$rxew,$rxns); #SA/SU am Empfänger



($txsa,$txsu) = sasu ($tag,$monat,$jahr,$txew,$txns); #SA/SU am Sender



#MMP-Berechnung



$rxn=$rxsa-$rxsu;



$rxn=$rxn + 24 if $rxsa < $rxsu;



$rxn=$rxn / 2 + $rxsu;



$rxn= $rxn + 24 if $rxn < 12;



$txn=$txsa-$txsu;



$txn=$txn + 24 if $txsa < $txsu;



$txn=$txn / 2 + $txsu;



$txn= $txn + 24 if $txn < 12;



$mmp = ($rxn + $txn) / 2;



$mmp = $mmp - 24 if $mmp >= 24;



$mmp = $mmp - 24 if $mmp >= 24;



$rxsaform=&hm($rxsa);



$rxsuform=&hm($rxsu);



$txsaform=&hm($txsa);



$txsuform=&hm($txsu);



$mmpform=&hm($mmp);



#Greyzone-Berechnung



$width=greyzone ($tag,$monat,$jahr,$rxns);



$width=0 if $rxsa==88;



$width=12 if $rxsa==99;



$rxwidth=&hm($width);



$width=greyzone ($tag,$monat,$jahr,$txns);



$width=0 if $txsa==88;



$width=12 if $txsa==99;



$txwidth=&hm($width);



#PDF: neue Seite und Positioniereung auf 1. Spalte am 1.1. und 1.7.



if ((($tag == 1) and ($monat == 1)) or (($tag == 1) and ($monat == 7)))




{




#DIN A4-Seite, Font und Zeilenabstand definieren




PDF_begin_page($pdf, 595, 842); 




$font = PDF_findfont($pdf, "Courier-Bold", "host", 0);




die "Couldn't set font" if ($font == -1);




PDF_setfont($pdf, $font, 8.0);




PDF_set_text_pos($pdf, 50, 800);




$out=sprintf("(A) %s (N+S-/E+W-): %.4f / %.4f",$rxname,$rxns,$rxew);




PDF_show($pdf, "$out");




PDF_continue_text($pdf, "");




PDF_continue_text($pdf, "Date        SA A-SU A  SA B-SU B  MMP   HGZA  HGZB");




PDF_continue_text($pdf, "");




}



#PDF: Positionierung auf 2. Spalte am 1.4 und 1.10



if ((($tag == 1) and ($monat == 4)) or (($tag == 1) and ($monat == 10)))




{




PDF_set_text_pos($pdf, 305, 800);




$out=sprintf("(B) %s (N+S-/E+W-): %.4f / %.4f",$txname,$txns,$txew);




PDF_show($pdf, "$out");




PDF_continue_text($pdf, "");




PDF_continue_text($pdf, "Date        SA A-SU A  SA B-SU B  MMP   HGZA  HGZB");




PDF_continue_text($pdf, "");




}



$out = sprintf ("%02d.%02d.%04d  ",$tag,$monat,$jahr);



$out .= sprintf ("%04d-%04d  ",$rxsaform,$rxsuform);



$out .= sprintf ("%04d-%04d  ",$txsaform,$txsuform);



$out .= sprintf ("%04d  ",$mmpform);



$out .= sprintf ("%04d  %04d",$rxwidth,$txwidth);



PDF_continue_text($pdf, $out);



PDF_set_leading($pdf,8);



#PDF: Nach Ausgabe von 30.6 und 31.12 Trennlinien und Seitenende



if ((($tag == 30) and ($monat == 6)) or (($tag == 31) and ($monat == 12)))




{




#Trennlinien zeichnen




PDF_setrgbcolor($pdf, 0.0, 0.0, 0.0);




PDF_setlinewidth($pdf, 0.5);




PDF_save($pdf);




#horizontal oben




PDF_moveto($pdf, 50.0, 795.0);




PDF_lineto($pdf, 545.0, 795.0);




PDF_stroke($pdf);




PDF_restore($pdf);




#horizontal unten




PDF_save($pdf);




PDF_moveto($pdf, 50.0, 779.0);




PDF_lineto($pdf, 545.0, 779.0);




PDF_stroke($pdf);




PDF_restore($pdf);




#horizontale Unterteilung alle 5 Zeilen




for ($ii=0;$ii<=17;$ii++)





{








PDF_save($pdf);





PDF_moveto($pdf, 50.0, 734.5 - $ii * 40);





PDF_lineto($pdf, 545.0, 734.5 - $ii * 40);





PDF_stroke($pdf);





PDF_restore($pdf);





}




#vertikal




PDF_save($pdf);




PDF_moveto($pdf, 295.0, 810.0);




PDF_lineto($pdf, 295.0, 45.0);




PDF_stroke($pdf);




PDF_restore($pdf);




PDF_end_page($pdf);




}



}


}

###############################################################################

# Ende der Schleife

###############################################################################

###############################################################################

# PDF-Datei schließen

###############################################################################

PDF_close($pdf);

PDF_delete($pdf);

###############################################################################

##### INI-Datei schreiben

###############################################################################

open (out,">riset.ini");

print out "year\;",$jahr,"\n";

print out "rxns\;",$rxns,"\n";

print out "rxew\;",$rxew,"\n";

print out "txns\;",$txns,"\n";

print out "txew\;",$txew,"\n";

print out "rx\;",$rxname,"\n";

print out "tx\;",$txname,"\n";

print out "dir\;",$dir,"\n";

close (out);

#####################################################################################

#Ergebnisdatei öffnen

#####################################################################################

exec ("$dir\\$rxname\-$txname.pdf");

###############################################################################

# Unterprogramme

###############################################################################

###############################################################################

# Grey-zone width

###############################################################################

sub greyzone


{


use Time::Local;


my $Dgz=$_[0];


my $Mgz=$_[1] -1;


my $Ygz=$_[2];


my $LATgz=$_[3];


my $daymax = (localtime(timelocal(0, 0, 0, 31, 11, $Ygz)))[7] + 1;


my $dayofyear = (localtime(timelocal(0, 0, 0, $Dgz, $Mgz, $Ygz)))[7] + 1;


my $Agz = -23.5 * sin (2 * $pi * ($dayofyear - 80) / $daymax);


if ($LATgz >= 0)



{



$Hgz = 90 - ($LATgz + $Agz);



}


else



{



$Hgz = 90 + ($LATgz + $Agz)



}


$Hgz=0 if $Hgz < 0;


if ($Hgz == 0)



{



$Wgz = 12;



}


else



{



$Wgz = 1 / (4 * POSIX::tan (0.95 * $Hgz * $pi / 180));



$Wgz = 12 if $Wgz > 12;



$Wgz = 0.083333 if $Wgz < 0.083333;



}


return $Wgz;


}

###############################################################################

# User input G.C. evaluieren

###############################################################################

sub ineval


{


$in=~s/\,/\./g; # alle Kommas durch Punkte ersetzen


if  ($in=~/ /) # Eingabe erfolgte in hms, falls Blank enthalten



{



split / +/,$in;



$in=abs($_[0])+$_[1]/60+$_[2]/3600;



$in=-$in if $_[0] < 0;



}


return $in;


}

###############################################################################

# SA/SU-Berechnung

###############################################################################

sub sasu


{


$d = $_[0];


$m = $_[1];


$y = $_[2];


$glong = $_[3];


$glat = $_[4];


$p2 = 2 * $pi;


$glong = -$glong;  # routines use east longitude negative convention


$zone = 0;         # Berechnung immer für Zeitzone 0 => UTC; $zone = $zone / 24;


# returns modified julian date number of days since 


# 1858 Nov 17 00:00h valid for any date since 4713 BC


# assumes gregorian calendar after 1582 Oct 15, Julian before


# Years BC assumed in calendar format, i.e. the year before 


# 1 AD is 1 BC


$h = 0;


$a = 10000 * $y + 100 * $m + $d;


if ($y < 0) {$y = $y + 1};


if ($m <= 2)



{


  $m = $m + 12;


  $y = $y - 1;


  }


if ($a <= 15821004.1)



{


  $b = -2 + int(($y + 4716) / 4) - 1179;


  }


else



{


  $b = int($y / 400) - int($y / 100) + int($y / 4);


  }


$a = 365 * $y - 679004;


$mjd = $a + $b + ipart(30.6001 * ($m + 1)) + $d + $h / 24;


$date = $mjd - $zone;


# define the altitudes for each object


# treat twilight as a separate object 3, so sinalt routine


# falls through to finding Sun altitude again


$sl = sn($glat);


$cl = cn($glat);


$sinho = sn(-50 / 60); # sunrise - classic value for refraction (-0.8333)


$xe = 0;


$ye = 0;


$z1 = 0;


$z2 = 0;


$iobj = 2; # 2 = Sonne


$utrise = 0;


$utset = 0;


$rise = 0;


$sett = 0;


$hour = 1;


$zero2 = 0;


$ym = &sinalt($iobj, $date, $hour - 1, $glong, $cl, $sl) - $sinho;


if ($ym > 0) # used to classify non-risings



{



$above = 1;



}


else 



{



$above = 0;



}


do



{


  $y0 = &sinalt ($iobj, $date, $hour, $glong, $cl, $sl) - $sinho;


  $yp = &sinalt ($iobj, $date, $hour + 1, $glong, $cl, $sl) - $sinho;


  $xe = 0;


  $ye = 0;


  $z1 = 0;


  $z2 = 0;


  $nz = 0;



# finds a parabola through three points and returns values of



# coordinates of extreme value (xe, ye) and zeros if any (z1, z2)



# assumes that the x values are -1, 0, +1



$nz = 0;



$a = 0.5 * ($ym + $yp) - $y0;



$b = 0.5 * ($yp - $ym);



$c = $y0;



$xe = -$b / (2 * $a); #x coord of symmetry line



$ye = ($a * $xe + $b) * $xe + $c; #extreme value for y in interval



$dis = $b * $b - 4 * $a * $c; #discriminant



if ($dis > 0) #intersects x axis!




{



   $dx = 0.5 * sqrt($dis) / abs($a);



   $z1 = $xe - $dx;



   $z2 = $xe + $dx;



   if (abs($z1) <= 1){$nz = $nz + 1}



   if (abs($z2) <= 1){$nz = $nz + 1}



   if ($z1 < -1){$z1 = $z2}




}



if ($nz == 1) # simple rise/set-event


  
{


    if ($ym < 0) # rising event


    
{


      $utrise = $hour + $z1;


      $rise = 1;


      }


    else # setting event


     
{                    


      $utset = $hour + $z1;


      $sett = 1;


      }


    }



if ($nz == 2) # rises and sets within interval




{


    if ($ye < 0) # minimum -> so set then rise


    
{


    
$utrise = $hour + $z2;


      $utset = $hour + $z1;


      }


    else        # maximum -> so rise then set


    
{


      $utrise = $hour + $z1;


      $utset = $hour + $z2;


      }


    $rise = 1;


    $sett = 1;


    $zero2 = 1;




}



$ym = $yp;    # reuse the ordinate in the next interval


  $hour = $hour + 2;



}


until (($hour == 25) or ($rise * $sett == 1));


$output="";


# logic to sort the various rise and set states


if ($rise == 1 or $sett == 1) # current object rises and sets today



{


  if ($rise == 1)


  
{


    $output.=$utrise;


    }


  else


  
{


    $output.="-----";


    }


  if ($sett == 1)


  
{


    $output.=$utset;


    }


  else


  
{


    $output.="-----"; #unid


  
}



}


else  # current object not so simple



{


  if ($above == 1)


  
{


    $utrise=$utset="88"; #$output.="**:**"; #immer hell


  
}


  else


  
{




$utrise=$utset="99"; #$output.="__:__"; #immer dunkel


  
}


  }


return ($utrise,$utset);


}
 #px ende


#############################################################################


# function cn


#############################################################################


sub cn



{



$cn = cos($_[0] * 0.0174532925199433);



return $cn;



}


#############################################################################


# function sn


#############################################################################


sub sn



{



$sn = sin($_[0] * 0.0174532925199433);



return $sn;



}


#############################################################################


# function mjd


#############################################################################


sub mjd ($y, $m, $d, $h)



{



# returns modified julian date number of days since 



# 1858 Nov 17 00:00h valid for any date since 4713 BC



# assumes gregorian calendar after 1582 Oct 15, Julian before



# Years BC assumed in calendar format, i.e. the year before 



# 1 AD is 1 BC



$a = 10000 * $y + 100 * $m + $d;



if ($y < 0) {$y = $y + 1};



if ($m <= 2)




{



  $m = $m + 12;



  $y = $y - 1;



  }



if ($a <= 15821004.1)




{



  $b = -2 + int(($y + 4716) / 4) - 1179;



  }



else




{



  $b = int($y / 400) - int($y / 100) + int($y / 4);



  }



$a = 365 * $y - 679004;



$mjd = $a + $b + ipart(30.6001 * ($m + 1)) + $d + $h / 24;



return $mjd;



}


#############################################################################


# function sinalt


#############################################################################


sub sinalt



{



# returns sine of the altitude of either the sun or the moon given the



# modified julian day number at midnight UT and the hour of the UT day,



# the longitude of the observer, and the sine and cosine of the latitude



# of the observer



$iobj=$_[0];



$mjd0=$_[1];



$hourtemp=$_[2];



#$glong=$_[3];



$cphi=$_[4];



$sphi=$_[5];



$COSEPS = 0.91748;



$SINEPS = 0.39778;



$ra = 0;



$dec = 0;



$instant = $mjd0 + $hourtemp / 24;



$t = ($instant - 51544.5) / 36525;



# Returns RA and DEC of Sun to roughly 1 arcmin for few hundred



# years either side of J2000.0



$m = $p2 * &fpart(0.993133 + 99.997361 * $t); # Mean anomaly



$dL = 6893 * sin($m) + 72 * sin(2 * $m); # Eq centre



$L = $p2 * &fpart(0.7859453 + $m / $p2 + (6191.2 * $t + $dL) / 1296000);



# convert to RA and DEC - ecliptic latitude of Sun taken as zero



$sltemp = sin($L);



$x = cos($L);



$y = $COSEPS * $sltemp;



$Z = $SINEPS * $sltemp;



$rho = sqrt(1 - $Z * $Z);



$dec = (360 / $p2) * POSIX::atan ($Z / $rho);



$ra = (48 / $p2) * POSIX::atan($y / ($x + $rho));



if ($ra < 0){$ra = $ra + 24};



$mjd0 = &ipart($instant);



$ut = ($instant - $mjd0) * 24;



$t = ($mjd0 - 51544.5) / 36525;



$gmst = 6.697374558 + 1.0027379093 * $ut;



$gmst = $gmst + (8640184.812866 + (.093104 - .0000062 * $t) * $t) * $t / 3600;



$lmst = 24 * &fpart(($gmst - $glong / 15) / 24);



$tau = 15 * ($lmst - $ra); # hour angle of object



$sinalt = $sphi * sn($dec) + $cphi * cn($dec) * cn($tau);



return $sinalt;



}


#############################################################################


# function ipart


#############################################################################


sub ipart 



{



$sgn = $_[0] <=> 0;



$ipart = $sgn * int(abs($_[0])); ##### !!!!! ####



return $ipart;



}


#############################################################################


# function fpart


#############################################################################


sub fpart



{



#  returns fractional part of a number



$_[0] = $_[0] - int($_[0]);



if ($_[0] < 0)




{



  $_[0] = $_[0] + 1;



  }



$fpart = $_[0];



return $fpart;



}


#############################################################################


# function hm


#############################################################################


sub hm



{



# returns number containing the time written in hours and minutes



# rounded to the nearest minute



$ut=$_[0];



$ut = int($ut * 60 + 0.5) / 60; # round ut to nearest minute



$h = int($ut);



$m = int(60 * ($ut - $h) + 0.5);



$hm = int(100 * $h + $m);



return $hm;



}

__END__







